Name:

Lesson Guide

This lesson guide accompanies the following video lesson:

Real World Multiplication Practice

The price of a pair of shoes is $32. The price of the pair of shoes is 2 times as much as
the price of a tee shirt. What is the price of a tee shirt?

(Show your work!)

My Answer:

Your Turn:;

At Rocco’s Costume Shop, he receives six times as many new customers the month of
October than he does in September. If he had 54 new customers in October, how
many new customers did he have in September?
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Answer Key:

1.) A tee shirt costs $16
2.) He had 9 new customers in September
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